
Test Results
N=8 teeth
Working Fluid: AIR

Nomenclature:
Cc = Empirical coefficient
Cr = Empirical coefficient
Ct = Empirical coefficient
Af = Flow Area
T = Temperature (high P side)
t = Tooth thickness
N = number of teeth
P = Pressure
Pr = Pressure ratio
p = Tooth spacing
R =  Gas Constant
Re = Reynolds Number
r = radius
δ = gap diameter
ρ = density (high P side)

Governing Equations: 
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Seal Dimensions: Impeller Labyrinth Gap size .18mm 
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ro is the inner diameter of the seal but the outer diameter of the teeth
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Air Properties at Testing Conditions
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Mass Flow Calculation: 
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